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Answer all questions. In an examination one mark is awarded for every correct answer.
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1. An Eskimo pulls a sled as shown. The total

mass of the sled is 50 kg, and he exerts a
force of 1.2 * 10 2 N on the sled by pulling
on the rope. Suppose pk= 0.200, How much
work done on the sled by friction, and the net
work if 8 = 30° and he pulls the sled 5.0 m
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. The driver of a 1.00* 10 3 kg car traveling on

the interstate at 35.0 m/s slam on his brakes
to avoid hitting a second vehicle in front of
him, which had come to rest because of
congestion ahead. After the breaks are
applied, a constant friction force of 8 *10 3
N acts on the car. Ignore air resistance. At
what minimum distance should the brakes be
applied to avoid a collision with the other
vehicle?

3. Adiver of mass m drops from a board 10.0 m

above the water’s surface. Neglect air
resistance.
Find is speed 5.0 m above the water surface.
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(c) 9.9 mss
(d) 8.9 mss

(2) 6.8 mss
@ 7.8 m/s

. A pearson pulls ablock 2 m along a horizental

surface by a constant force F= 20N.
Determine the work done by force F acting on

the block.
(o) w=601J

(@ w=501
(b) W=403J @w=e03
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5. A car driver pulling a car so the car moves as

far as 1000 cm. what is the work done on the
car?

(2 2400 J
(o) 2300 J

(::) 2500 J

(@ 2600 J

. An 1- kg object attached to a spring so it is

elongated 2 cm. If acceleration due to gravity
is 10 m/s 2 . determine the spring constant.
done by force F on the block.

(@) 600 NM (c) 700 N/M
(b) 500 N/M (d) 1000 N/M

. A body falls freely from rest, from a height of

2 m. If acceleration due to gravity is 10 m/s 2
, determine the work done by the force of

gravity.
(©)503

(307
()20 (d) 403

. What is The work done by force F on the

block.

. A block is pushed by a force 200 N. The

block's displacement is 2 meter. What is the
work done on the block
(c)5004

(23007
(b) 600 (d) 400

Calculate the work done by a force of 30 N in

1 lifting a load of 2kg to a height of 10 m (g =
10 ms-2)
@w=2001J (©Ow=100J
(o)W =300 (D w =500
True False
— 11. Energy is non conserved. It can be transferred
from one object to another or change in
form, but cannot be created or destroyed.
@ True
False
— 12. Kinetic Energy is energy associated with the
1 state of motion of an object.
@ True
False
I 13. Energy is a property of the state of a system.
@ True
False
— 14. Energy is a vector quantity. It does not have a
1 direction associated with it.
@ True
False
— 15. The energy approach to describing motion is
1

particularly useful when Newton’s Laws are
difficult or impossible to use

@ True
False
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